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relative prices

Phillips (1958) found relation an empirical relationship between
unemployment and inflation in the UK —the Phillips curve.

Original interpretation:

 Thereisatrade-off between inflation and unemployment
wherepricesarejudged relativeto the existing price level.

Problem: after sustained inflation, the empirical relationship
broke down.

New inter pretation:

 Thereisatrade-off between unemployment and unexpected
inflation.



prices

AD curve

AD

Theleve of output given by
any point on the AD curveis
such that if that level of
output is produced, planned
expenditure at the given
relative price will exactly
equal actual expenditure and
the demand for money will
equal the supply of money.



why doesthe AD curve slope down?

Threereasonswhy the aggr egate demand curve slopes
downwards:

Thefirst isthe Real Balance Effect. When pricesrise
unexpectedly, thereal value of assetswhose pricesarefixed in
nominal terms (such as some gover nment bonds, money, and
gold) falls. Thisleadsto lessconsumer spending.

The second isthereal exchangerate. When pricesrise
unexpectedly, thereal exchangerate appreciates (if the nominal
exchangerateisfixed). Thisleadsto an deterioration in the
primary current account.

Thethird isthe Keyneseffect. When pricesrise unexpectedly,
people need more money for day to day transactionsand sotry
to switch their money balances from bondsand shares. This
raisestheinterest rate and hence reduces inter est-sensitive
spending, such asinvestment.



long-run aggr egate supply

Thelabour market isin equilibrium when inflation is stable.

At the equilibrium unemployment rate, there will be both
voluntary unemployment (workerswho do not wish to work at
the current real wage) and involuntary unemployment (workers
who would liketo work but cannot find jobsat the current real
wage).

In thelong-run, the economy should return to itsequilibrium
rate of output, ‘money isneutral’.

However, accordingto Keynes, ‘..in thelong-run, we are all
dead’.



sniftsin aggregate supply

 Long-run aggregate supply is
prices LRAS, LRAS, deter mined by:

e productivity;
e thecapital stock;

e supply and demand for
labour;

e andreal input prices




ISLRAS stable?

L ots of evidence that equilibrium unemployment and natur al
output are useful concepts.

We can estimate the NAIRU from statistical models.
However, three complications:
 the NAIRU shiftsover timeand ishard to estimate precisely;

» even when unemployment isabovethe NAIRU, very rapid
risesin demand could still lead to increased inflation;

 if unemployment ishigh for avery long time, the NAIRU
may rise dueto ‘hysteress.



short-run aggregate supply

In the short-run, thereis no reason to expect actual output to
equal itsequilibrium rate.

Herearefour reasonswhy output can deviate from its
equilibrium rate:

o sticky-wages;

e Worker-misperception;

o imperfect information;

o sticky-prices.
All of theselead to a ‘surprise-supply’ function, where
output =equilibrium output + b(prices— expected prices)

Therefore output deviates from itsequilibrium level by the
extent to which prices deviate from their expected level.



the sticky-wage modé

‘I hold that in modern conditions, wagesin this country are, for
variousreasons, so rigid over short periodsthat it is
Impracticableto adjust them...” J.M .Keynes

In many industries, especially unionized ones, nominal wagesare
set by long-term contracts. Social norms, efficiency wages and
implicit contracts may also be important.

When the nominal wage isfixed, an unexpected fall in prices
raisesthereal wage, making labour mor e expensive.

Higher real wagesinduce firmsto reduce employment;
Reduced employment leadsto reduced output;

When contracts arerenegotiated, wor ker s accept lower nominal
wagesto return their real wagesto ther original level, so
employment rises.



the wor ker-misper ception model

 Workersmay suffer from ‘money illusion’.

 Thismeansthat whilefirmsknow the pricelevel with certainty,
wor kerstemporarily mistake nominal changesin wagesfor real
changes.

o |f pricesrise unexpectedly, firms offer higher nominal wages but
wor kers mistake these higher nominal offersfor higher real
wages, and so offer more labour.

o At everyreal wage, workers supply morelabour because they
think thereal wageis higher than it actually is.

 Eventually workersrealisethat real wages haven't risen, so their
expectations correct themselves and labour supply returnstoits
previous level.



the imperfect information model

Consider an economy consisting of many self-employed people,
each producing a single good, but consuming many goods.

In this economy, a yeoman far mer can monitor the price of
wheat and so knows of any price changeimmediately. But she

cannot monitor other pricesaseasly, so she only notices price-
changes after one time-period has passed.

How doesthe farmer react if wheat pricesrise unexpectedly?

One possibility isthat all prices haverisen, and so she shouldn’t
work any harder.

Another possibility isthat only the price of wheat hasrisen (and
so itsrelative price hasrisen), so she should work harder.

In practice, any change could be a combination of an aggregate
price change and arelative price change.



the sticky-price modél

It may also be the casethat firms cannot adjust their prices
Immediately either, since they may have long-term contracts or
there may be coststo changing prices (‘menu costs').

|f aggregate demand fallsand afirm’spriceis‘stuck’, it will
reduce itsoutput, its demand for labour will shift inwards, and
output will fall.

Notice that sticky-prices have an external effect since if some
firmsdo not adjust their pricesin responseto a shock, thereis
lessincentive for other firmsto do so.



taxonomy of aggregate supply models

Markets clear?
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model: workers
confuse nominal
wage changes with
real changes

| mper fect-1nfor mation
model: suppliers confuse
changesin thepricelevel
with changesin their own
prices

Sticky-Wage
model: nominal
wages adj ust slowly

Sticky-Price model: The
prices of goods and services
adjust slowly

L abour

Goods

Market with imperfection




prices

ASAD

LAS

SAS (P=P))

AD

The economy isin
equilibrium when aggregate
supply equals aggregate
demand —thereisno
tendency for inflation torise
or fall.

The short-run aggregate
demand curveisdrawn for a
particular level of inflation
expectations.



ASAD in disequilibrium

SAS (8,26,)

AD,

SAS (8=8,)

AD,

In the short-run, the
economy can bein
disequilibrium with the
wrong level of inflation
expectations.

Here, an unexpected fall in
aggr egate demand
temporarily decreases output
below itsequilibrium level.

Onceinflation expectations
adapt, the economy returns
to equilibrium.



shocksto the economy

 Why might the economy get ‘shocked’ away from equilibrium?

e Aggregate demand shocks
e aninvestment boom
e an imprudent government spending spree
e asurgeintheexchangerate
o aslump inforeign markets
e aboom in the housing market
« adumpinshareprices
e Aggregate supply shocks
« asuddenrisein oil prices
« theinvention and diffusion of a new technology



the Phillips Curve
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e Just astheshort-run aggregate supply curveisdrawn for a
particular level of inflation expectations, we can draw a short-
run Phillips curve which depictsthe trade-off between
unemployment and unexpected inflation.



inflation adj ustment
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 For agiven rate of expected inflation, the economy can sustain
lower unemployment at the cost of rising inflation. In thelong-
run, thereisno trade-off.



summary

Equilibrium in the economy is determined by the interaction of
aggr egate demand (the goods and money market) and aggr egate
supply (the labour market).

In the long-run, a country’s capacity to produce goods and
services determinesthe standard of living of its citizens.

In the short-run, aggregate demand influences the amount of
goods and servicesthe a country produces.

In thelong-run, therate of money growth deter minestherate of
Inflation but does not affect the rate of unemployment.

In the short-run, policymaker s face a trade-off between
unemployment and unexpected changesin the price level.



syndicate topics

 What determinesthe slope of the aggregate demand curve?

 What determinesthe slope of the short-run aggregate supply
curve?

« How would an oil shock affect the economy? Doesit matter
whether a country isa net exporter or importer?

o Should policymakerstry to stabilize the economy?

 How costly isinflation, and how costly isreducing inflation?
« Can theeconomy get ‘stuck’ away from equilibrium?
 Might there be morethan one equilibrium for the economy?
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